REERATREAEEERANER

BAFEFERM (BA6I: M) BSEEREERAN (EHAFEADEES) G
< % B B B & wnownt| {f FIH
£ 7207 1,150 & = 5 1ERE [ 2,970
B R & 1/2 7 0 7 570 g x B B 8 B & 1RERA [ 1,440
K A5 A #R 1/4 7 0 7 280 B 8 e g 5 1R 960
FIFaATAR—YIZ| LEWGSE £ 2087 2,310 n 1& % 5 1B5R [ 370
ERYTLHEE fi% 1/2 7 0 7 1,150 ax i 1 = 15 R 170
= 1/4 7 0 7 570 {ig = 3 = 1B 110
B AEHE BN ) & £ 2.310 & & = ¥ = 1B | 110
R — fig 4,620 AR i 3 = 1B 170
g Ai%ﬂﬂ%ffﬂi EHMEBEBMHMELAE LB A 4,620
15 Z DD EIC LGS E R E B MET BB A 9,240
ERI 555 ABHEER | B EE®MELE VB A 18,480
ERCYEe) E A& B MET DB A 36,960
= 4 4 £ 7 0 7 460 [ Ll ‘Qﬁ@ﬁi"i(%ﬁ%@ﬁ%@%% (Bfz: M)
L2 AmpEgr | "~ 1/2 7 0 7 230 X4 |emon|lE 5 | B B B 5 leelmes
FIFATAR—IZ| Langa [ _ w |- £ 2707 920 7 é?u? e [E a7 1707 >
Al = FRIL5E ' 1/2 7 0 7 460 £ = KT| 1B5RE | 6,020] 3,010 340 160 50 50
AIBHE N = B ES 920 2/3T[ 185RT | 4,020] 2,000
T84 — [ 1,840 1/2=KT| 18RS 160 70
2 AtSplzgR| ez B MWELE VLS A 1,840 1/38 4T [ 1H5RS 2,000 980
ZDHDEMIZ LSS ® A 2 B MWET BB A 3,690
15 HAYTHIEE ABHESR | E Rz BEMELHE L B A 7,390
554 A & B MET DB A 14,780
f = B 4 £ 207 340 lﬁE.&F%Eﬁ%ﬂ(%ﬁﬁﬁ@%A) (B4 M)
Asprmy | = & 1/2 7 A 7 160 i By [ AKX o = A H
B | 7rFa7RE—YIZ| LEMEE [ _ w |- £ 287 690 1K 53 T B | 1% | 1BRIco= 340
FERYTHEE ' 1/2 7 0 7 340 2 8 8B E 158 1,150
e A5 E IR = B ES 690 2 07 v — b 1A 1@ 12D & 110
554 — [T 1,380 Hl 15 < ERA2A L ETh3 50
J== Atz 2Rz B MELE VS A 1,380 ?ﬁ YUtkt-H& B F 100 HaFIAIIOE |/ 10
15 ZDHDEYIC LGS E A EBEB MET DB A 2,770 m K ~/ x — 1A 1[I D= 50
R 55E ABiEgR | BREBEMELE VB A 5,540 % E R EE 1Kw 1BEICOE 110
THI5E ® R &% B WET BB A 11,080 K & &= B 1% 3,460
i 5 = FIYF2TRAR—YIZERTHEE 230 BERAN ATy 1%t 1,150
> = TOROEDN-ERT 2B A 460 WENLR VAR | e 580
o - = TIFATAR—VICERTSHBE 110 (rvbEED) "
AR = IOROEM BRI 5B& 230 L ToAAERE | g | 1EIEDE 580
& 8 s " = FIFaT7AR—VIZERTE5E 110 B (FybEED) "
- FOMOEMIZCTHERTDIBEAR 230 NEIVFV R X 148 (ﬁﬁﬁfﬁzaum:hf:é 110
& kL — =9 5 L — A ERE (AIZDE) 110 s | (GRobEED) i BAIXIBIZDE
1; — —*ﬂéﬁklzcg) 230 E* ﬂétﬁ 14 110
2= 48 | R O a ., = _I%_SJE (1 ANIZD ) 50 (RYREED)
i AR -RERS 8BRS — B (IANITD=Z) 110 NEFLEFEEET 150
(B HRO '
-tk — b AI-F 18 1,150




